# A note on enumeration of noncrossing partitions \*

Weiming Weng and Bolian Liu †

School of Mathematical Sciences
South China Normal University
Guangzhou 510631
P. R. China
jshwwm@163.com
liubl@scnu.edu.cn

**Abstract.** In this paper, we study the enumeration of noncrossing partitions with fixed points. The expressions of  $f_m(x_1, x_2, x_3, 0, 0, \dots, 0)$  and  $f_m(x_1, x_2, 0, \dots, 0, x_{\rho+3}, 0, \dots, 0)$  are found and a new proof of the expression of  $f_m(x_1, x_2, 0, 0, \dots, 0)$  is obtained using diophantine equations.

Keywords: noncrossing partitions, fixed points, diophantine equations

AMS 2000 Subject Classification: 05A15

### 1 Introduction

A partition  $\pi = B_1/B_2/\cdots/B_m$  of a totally ordered set X is called non-crossing partition (n.c.p.) iff there do not exist four elements a < b < c < d of X such that  $a, c \in B_i$ ,  $b, d \in B_j$  and  $i \neq j$ . We denote by NC(X) the set of all n.c.p. of X.

Many authors have worked on n.c.p. (see for example Kreweras [2] Sapounakis and Tsikouras [3]).

In [3], an interesting class of n.c.p. has been introduced.  $\pi \in NC(X, A)$  is called noncrossing partition with fixed points the elements of a given set

<sup>\*</sup>The research is supported by NNSF of China (No.10331020) .

<sup>†</sup>Corresponding author.

 $A \subseteq X$  iff every block of  $\pi$  contains exactly one element of A. The set of all these n.c.p. is denoted by NC(X,A). Our purpose is to evaluate the cardinality |NC(X,A)|.

Since the distribution of the elements of A in X determines the cardinality |NC(X,A)|, we can restrict the problem to the equivalent case. Let  $[m] = \{1,2,\cdots,m\}, X = [m] \cup Y$ , where the elements of Y are distributed in the intervals (i,i+1),  $i \in [m-1]$  and  $(m,+\infty)$ , so that  $X \cap (i,i+1) = X_i \ \forall i \in [m-1]$  and  $X \cap (m,+\infty) = X_m$ . A function  $f_m$  of m variables is defined with  $f_m(x_1,x_2,\cdots,x_m) = |NC(X,[m])|$ , where  $x_i = |X_i|$  for every  $i \in [m-1]$  and  $x_m = |X_m|$ .

In [3],[4] Sapounakis and Tsikouras have proved the following results.

**Theorem 1.1** For every  $m \in \mathbb{N}$ , with  $m \geqslant 2$  we have that

$$f_m(x_1, x_2, 0, 0, \dots, 0) = {x_1 + x_2 + m \choose m} - {x_1 + m - 1 \choose m} - {x_2 + m - 1 \choose m}.$$

**Theorem 1.2** For every  $m \in \mathbb{N}$ , with  $m \geqslant 4$  and for every  $\rho \in \mathbb{N}^*$ , with  $2\rho \leq m-2$  we have that

$$f_m(x_1, 0, \dots, 0, x_{\rho+2}, 0, \dots, 0) = {x_1 + x_{\rho+2} + m \choose m} - {x_1 + m - 1 \choose m} - {x_{\rho+2} + m - 1 \choose m} + \sum_{\delta=2}^{\rho+1} \sum_{k=\delta}^{m-\delta} {x_1 + k - 1 \choose k} {x_{\rho+2} + m - k - 1 \choose m-k}.$$

Using the formula  $\binom{a+b+m+1}{m} = \sum_{k=0}^{m} \binom{a+k}{a} \binom{b+m-k}{b}$  (e.g. see [1]), we can obtain another expression of Theorem 1.2 as follows:

$$f_m(x_1, x_2, 0, 0, \dots, 0) = {x_1 + x_2 + m - 1 \choose m - 1} + \sum_{k=1}^{m-1} {x_1 + k - 1 \choose k} {x_2 + m - k - 1 \choose m - k}.$$

In section 2 of this paper, we first show a lemma about the number of nonnegative integer solutions of a diophantine equation. Using this lemma, we can easily prove the result obtained by Sapounakis and Tsikouras.

In section 3, the expressions of  $f_m(x_1, x_2, x_3, 0, \dots, 0)$  and  $f_m(x_1, x_2, 0, \dots, 0, x_{\rho+3}, 0, \dots, 0)$  are presented.

# 2 A new proof of the expression of

$$f_m(x_1, x_2, 0, 0, \cdots, 0)$$

We denote by  $N[t_1 + t_2 + \cdots + t_r = n]$  the number of nonnegative integer solutions of the equation  $t_1 + t_2 + \cdots + t_r = n$ ;

 $N[t_1 + t_2 + \cdots + t_r = n; t_1 \le n_1]$  the number of nonnegative integer solutions of the equation  $t_1 + t_2 + \cdots + t_r = n$  with  $t_1 \le n_1$ ;

 $N[t_1+t_2+\cdots+t_r=n;t_1\leq n_1,t_2\leq n_2]$  the number of nonnegative integer solutions of the equation  $t_1+t_2+\cdots+t_r=n$  with  $t_1\leq n_1$  and  $t_2\leq n_2$ .

**Lemma 2.1** For every  $m \in \mathbb{N}$ , with  $m \ge 2$ 

$$N[t_1 + t_2 + \dots + t_{m+1} = x_1 + x_2; t_1 \le x_1, t_2 \le x_2] = {x_1 + x_2 + m \choose m} - {x_1 + m - 1 \choose m} - {x_2 + m - 1 \choose m}.$$

**Proof.** It is well-known that,  $N[t_1+t_2+\cdots+t_{m+1}=x_1+x_2]=\binom{x_1+x_2+m}{m}$ . On the other hand,  $N[t_1+t_2+\cdots+t_{m+1}=x_1+x_2;\ t_1>x_1]$   $=N[t_1+t_2+\cdots+t_{m+1}=x_2-1]$ 

 $= {x_2+m-1 \choose m},$ and  $N[t_1 + t_2 + \dots + t_{m+1} = x_1 + x_2; t_2 > x_2]$   $= N[(t_1 + t_2 + \dots + t_{m+1} = x_1 - 1]$   $= (x_1+m-1)$ 

Then  $N[t_1 + t_2 + \dots + t_{m+1} = x_1 + x_2; t_1 \le x_1, t_2 \le x_2]$   $= N[t_1 + t_2 + \dots + t_{m+1} = x_1 + x_2] - N[t_1 + t_2 + \dots + t_{m+1} = x_1 + x_2; t_1 > x_1]$   $-N[t_1 + t_2 + \dots + t_{m+1} = x_1 + x_2; t_2 > x_2]$   $= {x_1 + x_2 + m \choose m} - {x_1 + m - 1 \choose m} - {x_2 + m - 1 \choose m}.$ 

Using Lemma 2.1, we prove Theorem 1.1.

**Proof.** Here, we deal with the set NC(X, [m]) with  $X = [m] \cup \bigcup_{i=1}^{2} X_i$ ,  $X_i = X \cap (i, i+1), x_i = |X \cap (i, i+1)| (i = 1, 2).$ 

For every n.c.p.  $\pi = B_1/B_2/\cdots/B_m \in NC(X, [m])$  with  $i \in B_i$  for every  $i \in [m]$ ,

$$\text{let } n_i = \left\{ \begin{array}{l} |B_i| - 1 \ , \quad i \in \{1, 3, 4, \cdots m\} \\ |B_2 \cap X_1|, \quad i = 2 \\ |B_2 \cap X_2|, \quad i = m + 1. \end{array} \right.$$

Then the sequence  $(n_i)$ ,  $i \in [m+1]$  is a nonnegative integer solution of the equation  $t_1 + t_2 + \cdots + t_{m+1} = x_1 + x_2$  with  $t_2 \le x_1$  and  $t_{m+1} \le x_2$ .

Conversely, if  $(n_i)$ ,  $i \in [m+1]$  is a nonnegative integer solution of the equation  $t_1 + t_2 + \cdots + t_{m+1} = x_1 + x_2$  with  $t_2 \le x_1$  and  $t_{m+1} \le x_2$ . We define recursively the blocks of a n.c.p.  $\pi = B_1/B_2/\cdots/B_m \in NC(X, [m])$  with  $i \in B_i$  for every  $i \in [m]$  as follows.

- (1)  $B_2$  contains 2, the last  $n_2$  elements of  $X_1$  and the first  $n_{m+1}$  elements of  $X_2$ ;
  - (2)  $B_1$  contains 1 as well as the first  $n_1$  elements of  $X\setminus([m]\cup B_2)$ ;
- (3) For  $i=3,4,\cdots,m,\ B_i$  contains i as well as the last elements of  $X\setminus([m]\cup(\bigcup_{j=1}^{i-1}B_j)).$

Thus, we define a bijection between the set NC(X, [m]) and the set of all nonnegative integer solutions of the equation  $t_1 + t_2 + \cdots + t_{m+1} = x_1 + x_2$  with  $t_2 \leq x_1$  and  $t_{m+1} \leq x_2$ .

Since 
$$N[t_1 + t_2 + \dots + t_{m+1} = x_1 + x_2; t_1 \le x_1, t_2 \le x_2]$$
  
=  $\binom{x_1 + x_2 + m}{m} - \binom{x_1 + m - 1}{m} - \binom{x_2 + m - 1}{m}$ , we obtain that

$$f_m(x_1, x_2, 0, 0, \dots, 0) = {x_1 + x_2 + m \choose m} - {x_1 + m - 1 \choose m} - {x_2 + m - 1 \choose m}.$$

$$f_m(x_1, x_2, x_3, 0, 0, \cdots, 0) \text{ and } f_m(x_1, x_2, 0, \cdots, 0, x_{
ho+3}, 0, \cdots, 0)$$

We now turn to find  $f_m(x_1, x_2, x_3, 0, 0, \dots, 0)$ .

**Theorem 3.1** For every  $m \in \mathbb{N}$ , with  $m \geqslant 3$ 

$$f_{m}(x_{1}, x_{2}, x_{3}, 0, 0, \cdots, 0) = {x_{1} + x_{2} + x_{3} + m + 1 \choose m + 1} - \sum_{1 \leq i < j \leq 3} {x_{i} + x_{j} + m \choose m + 1} + \sum_{i=1}^{3} {x_{i} + m - 1 \choose m + 1} + (x_{2} + 1) \sum_{k=2}^{m-2} {x_{1} + k - 1 \choose k} {x_{3} + m - k - 1 \choose m - k}.$$

**Proof.** We consider the case that  $f_m(x_1, x_2, x_3, 0, 0, \dots, 0) = |NC(X, [m])|$  with  $X = [m] \cup \bigcup_{i=1}^{3} X_i, X_i = X \cap (i, i+1), x_i = |X \cap (i, i+1)| (i = 1, 2, 3).$ 

We partition the set NC(X, [m]) into sets  $A_{u,v}$  and  $T_{u,v,i,j}$  (with  $u, v, i, j \in \mathbb{N}$ ,  $u \leq x_1, v \leq x_2, i \leq x_3 - 1, 1 \leq j \leq x_3 - i$ ), where  $A_{u,v}$  and  $T_{u,v,i,j}$  are defined as follows:

For every n.c.p.  $\pi = B_1/B_2/\cdots/B_m \in NC(X,[m]), i \in B_i$  for every  $i \in [m]$ .

Each set  $A_{u,v}$  consists of all  $\pi \in NC(X, [m])$  with the property that  $|B_2 \cap X_1| = x_1 - u$ ,  $|B_2 \cap X_2| = x_2 - v$  and  $|B_2 \cap X_3| = 0$ .

Each set  $T_{u,v,i,j}$  consists of all  $\pi \in NC(X,[m])$  with the property that  $|B_2 \cap X_1| = x_1 - u$ ,  $|B_2 \cap X_2| = x_2 - v$ ,  $|B_2 \cap X_3| = j$  and  $|B_3 \cap X_3| = i$ .

Thus  $|A_{u,v}| = f_{m-1}(u+v, x_3, 0, \cdots, 0) = {u+v+x_3+m-1 \choose m-1} - {u+v+m-2 \choose m-1} - {v+v+m-2 \choose m-1}$ 

$$|T_{u,v,i,j}| = f_{m-2}(u+x_3-i-j,0,\cdots,0) = {u+x_3-i-j+m-3 \choose m-3}.$$

Hence, we finally obtain

$$f_m(x_1,x_2,x_3,0,0,\cdots,0)$$

$$=\sum_{u=0}^{x_1}\sum_{v=0}^{x_2}|A_{u,v}|+\sum_{u=0}^{x_1}\sum_{v=0}^{x_2}\sum_{i=0}^{x_3-1}\sum_{i=0}^{x_3-i}|T_{u,v,i,j}|$$

$$= \sum_{u=0}^{x_1} \sum_{v=0}^{x_2} \left[ \binom{u+v+x_3+m-1}{m-1} - \binom{u+v+m-2}{m-1} - \binom{x_3+m-2}{m-1} \right] +$$

$$\sum_{u=0}^{x_1} \sum_{v=0}^{x_2} \sum_{i=0}^{x_3-1} \sum_{j=0}^{x_3-i} \binom{u+x_3-i-j+m-3}{m-3}$$

$$= \binom{x_1+x_2+x_3+m+1}{m+1} - \sum_{1 \le i < j \le 3} \binom{x_i+x_j+m}{m+1} + \sum_{i=1}^{3} \binom{x_i+m-1}{m+1} +$$

$$(x_2+1) \left[ \binom{x_1+x_3+m-1}{m} - \binom{x_1+m-1}{m} - \binom{x_3+m-2}{m} - x_3 \binom{x_1+m-2}{m-1} \right] -$$

$$(x_1+1)(x_2+1) \binom{x_3+m-2}{m-1}$$

$$= \binom{x_1+x_2+x_3+m+1}{m+1} - \sum_{1 \le i < j \le 3} \binom{x_i+x_j+m}{m+1} + \sum_{i=1}^{3} \binom{x_i+m-1}{m+1} +$$

$$(x_2+1) \sum_{i=1}^{m-2} \binom{x_1+k-1}{k} \binom{x_3+m-k-1}{m-k} .$$

Note. (1)We note that if  $x_3 = 0$  we obtain Theorem 1.1, whereas if  $x_2 = 0$  we obtain Theorem 1.2 for  $\rho = 1$ .

(2) Using the formula  $\binom{a+b+c+m+2}{m} = \sum_{k=0}^{m} \sum_{l=0}^{m-k} \binom{a+l}{a} \binom{b+k}{b} \binom{c+m-k-l}{c}$ , we can deduce another expression of Theorem 3.1 as follows:

$$f_{m}(x_{1}, x_{2}, x_{3}, 0, 0, \cdots, 0) = {x_{1} + x_{2} + x_{3} + m \choose m} + \sum_{i=1}^{3} {x_{i} + m - 1 \choose m} + \sum_{\substack{v \ge 1, u \ge 1 \\ u + v \le m}} {x_{1} + u - 1 \choose u} {x_{2} + v - 1 \choose v} {x_{3} + m - u - v \choose m + 1 - u - v} + (x_{2} + 1) \sum_{k=2}^{m-2} {x_{1} + k - 1 \choose k} {x_{3} + m - k - 1 \choose m - k}.$$

We now generalize Theorem 1.2 for three variables.

**Theorem 3.2** For every  $m \in \mathbb{N}$ , with  $m \geqslant 5$  and for every  $\rho \in \mathbb{N}^*$ , with  $2\rho \leq m-3$ ,

$$f_{m}(x_{1}, x_{2}, 0, \cdots, 0, x_{\rho+3}, 0, \cdots, 0)$$

$$= {\binom{x_{1} + x_{2} + x_{\rho+3} + m + 1}{m+1}} - \sum_{\substack{i < j \\ i, j \in \{1, 2, \rho+3\}}} {\binom{x_{i} + x_{j} + m}{m+1}} + \sum_{\substack{i \in \{1, 2, \rho+3\}}} {\binom{x_{i} + m - 1}{m+1}} + \sum_{\substack{i \in \{1, 2, \rho+3\}}} {\binom{x_{i} + m - 1}{m+1}} + \sum_{\substack{i \in \{1, 2, \rho+3\}}} {\binom{x_{i} + m - 1}{m+1}} + \sum_{\substack{i \in \{1, 2, \rho+3\}}} {\binom{x_{i} + m - 1}{m+1}} + \sum_{\substack{i \in \{1, 2, \rho+3\}\\ w = 0}} {\binom{x_{i} + v - 1}{v}} {\binom{x_{\rho+3} + m - v - 1}{m-v}} + \sum_{\substack{i \in \{1, 2, \rho+3\}\\ w = 0}} {\binom{x_{i} + v - 1}{v}} {\binom{x_{i} + t - 1}{v}} {\binom{x_{2} + k + 1 - t}{k+2 - t}} {\binom{x_{\rho+3} + m - k - 2}{m-k-1}} + \sum_{\substack{u \in [\rho+1]\\ v \in [m-2 - \rho]\\ w = 0}} {\binom{x_{1} + v - 1}{v}} {\binom{x_{2} + u - 1}{u}} {\binom{x_{2} + u - 1}{m+1 - u - v}}.$$

**Proof.** We consider the case that  $f_m(x_1, x_2, 0, \dots, 0, x_{\rho+3}, 0, \dots, 0) = |NC(X, [m])|$  with  $X = [m] \cup \bigcup_{i \in \{1, 2, \rho+3\}} X_i, X_i = X \cap (i, i+1), x_i = |X_i|$   $(i \in \{1, 2, \rho+3\}).$ 

We partition the set NC(X, [m]) into sets  $A_{u,v}$  and  $T_{u,v,k,l}$  (with  $u,v,k,l \in \mathbb{N}$ ,  $u \leq x_1$ ,  $v \leq x_2$ ,  $l \leq k \leq x_{\rho+3}-1$ ), where  $A_{u,v}$  and  $T_{u,v,k,l}$  are defined as follows:

For every n.c.p.  $\pi = B_1/B_2/\cdots/B_m \in NC(X, [m]), i \in B_i$  for every  $i \in [m]$ .

Each set  $A_{u,v}$  consists of all  $\pi \in NC(X,[m])$  with the property that  $|B_2 \cap X_1| = x_1 - u$ ,  $|B_2 \cap X_2| = x_2 - v$  and  $|B_2 \cap X_{o+3}| = 0$ .

Each set  $T_{u,v,k,l}$  consists of all  $\pi \in NC(X,[m])$  with the property that  $|B_2 \cap X_1| = x_1 - u$ ,  $|B_2 \cap X_2| = x_2 - v$ ,  $|B_2 \cap X_{\rho+3}| = x_{\rho+3} - k$  and  $|\{y \in X_{\rho+3}|y > \max\{x \in B_2\}\}| = l$ .

Thus 
$$|A_{u,v}| = f_{m-1}(u+v,0,0,\cdots,0,x_{\rho+3},\cdots,0),$$
  
 $|T_{u,v,k,l}| = f_{\rho+1}(v+k-l,0,\cdots,0)f_{m-\rho-2}(u+l,0,\cdots,0).$ 

Hence, we finally obtain

$$\begin{split} &f_m(x_1,x_2,0,\cdots,0,x_{\rho+3},0,\cdots,0)\\ &=\sum_{u=0}^{x_1}\sum_{v=0}^{x_2}|A_{u,v}|+\sum_{u=0}^{x_1}\sum_{v=0}^{x_2}\sum_{k=0}^{x_{\rho+3}-1}\sum_{l=0}^{k}|T_{u,v,k,l}|\\ &=\sum_{u=0}^{x_1}\sum_{v=0}^{x_2}[\binom{u+v+x_{\rho+3}+m-1}{m-1})-\binom{u+v+m-2}{m-1}-\binom{x_{\rho+3}+m-2}{m-1}+\\ &\sum_{b=2}^{\rho+1}\sum_{k=\delta}^{m-1-\delta}\binom{u+v+k-1}{k}\binom{x_{\rho+3}+m-k-2}{m-k-1}]+\\ &\sum_{u=0}^{p+1}\sum_{v=0}^{m-1-\delta}\binom{u+v+k-1}{k}\binom{(v+k+\rho-l)}{p}\binom{u+l+m-\rho-3}{m-\rho-3}\\ &=\binom{x_1+x_2+x_{\rho+3}+m+1}{m+1}-\sum_{i,j\in\{1,2,\rho+3\}}\binom{x_i+x_j+m}{m+1}+\sum_{i\in\{1,2,\rho+3\}}\binom{x_i+m-1}{m+1}\\ &+\sum_{b=2}^{\rho+1}\sum_{k=\delta}^{m-1-\delta}[\binom{x_1+x_2+k+1}{k+2}-\binom{x_1+k}{k+2}-\binom{x_2+k}{k+2}]\binom{x_{\rho+3}+m-k-2}{m-k-1}\\ &+\sum_{u=1}^{\rho+1}\sum_{v=1}^{m-2-\rho}\binom{x_1-1+v}{v}\binom{x_2-1+u}{u}\binom{x_{\rho+3}+m-u-v}{m+1-u-v}-x_1x_2\binom{x_{\rho+3}+m-2}{m-1}\\ &+\sum_{u=2}^{\rho+1}\binom{x_2-1+u}{u}\binom{x_{\rho+3}-1+m-u}{m-u}+\sum_{v=2}^{m-2-\rho}\binom{x_1-1+v}{v}\binom{x_{\rho+3}-1+m-v}{m-v}\\ &=\binom{x_1+x_2+x_{\rho+3}+m+1}{m+1}-\sum_{i,j\in\{1,2,\rho+3\}}\binom{x_i+x_j+m}{m+1}+\sum_{i\in\{1,2,\rho+3\}}\binom{x_i+m-1}{m+1}\\ &+\sum_{b=2}^{\rho+1}\sum_{k=\delta}^{m-1-\delta}\sum_{l=1}^{k+1}\binom{x_1+l-1}{l}\binom{x_2+k+l-t}{k+2-l}+\binom{x_1+k}{k+1}+\binom{x_2+k}{k+1}]\binom{x_{\rho+3}+m-k-2}{m-k-1} \end{split}$$

$$+ \sum_{u=1}^{\rho+1} \sum_{v=1}^{m-2-\rho} {x_1-1+v \choose v} {x_2-1+u \choose u} {x_{\rho+3}+m-u-v \choose m+1-u-v} - x_1 x_2 {x_{\rho+3}+m-2 \choose m-1}$$

$$+ \sum_{u=2}^{\rho+1} {x_2-1+u \choose u} {x_{\rho+3}-1+m-u \choose m-u} + \sum_{v=2}^{m-2-\rho} {x_1-1+v \choose v} {x_{\rho+3}-1+m-v \choose m-v}$$

$$= {x_1+x_2+x_{\rho+3}+m+1 \choose m+1} - \sum_{\substack{i

$$\sum_{i=2}^{\rho+2} \sum_{v=\delta}^{m-\delta} {x_1+v-1 \choose v} {x_{\rho+3}+m-v-1 \choose m-v} + \sum_{i=2}^{\rho+1} \sum_{u=\delta}^{m-\delta} {x_2-1+u \choose u} {x_{\rho+3}+m-u-1 \choose m-u} + \sum_{\substack{i\in \{1,2,\rho+3\} \\ m-u}} {x_1-1+v-1 \choose v} {x_2+k+1-t \choose k+2-t} {x_{\rho+3}+m-k-2 \choose m-k-1} + \sum_{\substack{u\in [\rho+1] \\ v\in [m-2-\rho]}} {x_1+v-1 \choose v} {x_2+u-1 \choose u} {x_{\rho+3}+m-u-v \choose m+1-u-v}.$$$$

Note. (1) From Theorem 3.2 we can easily obtain Theorem 3.1 (for  $\rho = 0$ ), as well as Theorem 1.2 (for  $x_2 = 0$ ).

(2)we can easy obtain that

$$f_m(x_1, x_2, 0, \cdots, 0, x_{\rho+3}, 0, \cdots, 0) = f_m(x_1, x_2, x_{\rho+3}, 0, 0, \cdots, 0) + \sum_{\substack{u \in [\rho+1] \\ v \in [m-2-\rho] \\ u+v \geq \rho+3}} {x_1 \cdot x_2 \cdot x_{\rho+3}, 0, 0, \cdots, 0} + \sum_{\substack{u \in [\rho+1] \\ v \in [m-2-\rho] \\ u+v \geq \rho+3}} {x_1 \cdot x_2 \cdot x_{\rho+3}, 0, 0, \cdots, 0} + \sum_{\substack{u \in [\rho+1] \\ v \in [m-2-\rho] \\ u+v \geq \rho+3}} {x_1 \cdot x_2 \cdot x_{\rho+3}, 0, 0, \cdots, 0} + \sum_{\substack{u \in [\rho+1] \\ v \in [m-2-\rho] \\ u+v \geq \rho+3}} {x_1 \cdot x_2 \cdot x_{\rho+3} \cdot x$$

#### Acknowledgments

The authors thank Professor Sapounakis for his useful comments and suggestions.

## References

- [1] H. Gould, Combinatorial Identities, Morgantown, W. Va, 1972
- [2] G. Kreweras, Sur les partitions non croisées d'un cycle, Discrete Math., Vol. 1 (1971), pp. 335-350.
- [3] A. Sapounakis and P. Tsikouras, Noncrossing partitions with fixed points, Australasian. J. Combin., Vol. 28 (2003), pp. 263-272.

- [4] A. Sapounakis and P. Tsikouras, On the enuneration of noncrossing partitions with fixed points, ARS. J. Combin., Vol. 73 (2004), pp. 163-171.
- [5] R. Simion, Combinatorial statistics on type-B analogues of non crossing partitions and restricted permutations, *The Electronic Journal of Combinatorics*, Vol. 7 (2000).